Pressure and temperature

paAlasal suoisuswip pajeolpul Jo abuey) (,

9Ll 10 196 SO¥ 'ON JOpIO ZX/ZIN Sllom aAdsjold sseiq sod g
:9|dwexa BunspiO

91G¥10190S0¥

(0. 081 "Xew)
Buiysnq
Jaggny "ON JapiO

Accessories

e 810 ) 917810196507
) 91€810196507
0¢ 110 vl 09} UL o 919810196507 120 9l 091 070
e 810 ZXLTIN 912810196507 YT IN 911810196507 66119
8 PELLO
| w0 peo | 915210196507 mmmwﬂ
) 91%.10196507 GL"0L
0¢ 910 4} el UL o 91210196507 810 zl gel 0608
S S _ S sz
Sos=|c 110 XTI 9110196507 XTI 912210196507 0" 01~
Rw o N
N BN X .
ST ab) e 110 ) 912610196507
> o ) 919610196507
0¢ 910 vl LI UL o 916510196507 20 9l GLl 070
¢ 110 XTI 916510196507 XTI 91510196507
12119
v 91219
| a0 e | 918y1019650% mmmmﬂ
) 91¥10196507 o0
0¢ GL'0 4 el UL o 919710196507 110 zl sel 0608
‘ GGz
4 910 XTI 912710196507 XTI 911710196507 0" 01~
Z . "z .
Bis, , Jo1awel ON Jopi Bis, . Jojawel Bua ON “Jopi
cowowa@; [ |Loem (soroweid | o | peaiyy N Jepi0 oM | (.ierewelg | youe | 8 N 8pI0 . o ol
HO-papIm 1eq 0} = BdiN | 1eq 0} = BdIN | 4| obuey | o4
ON 48pi0 edIN € 0} dn ainssaidiano Jxs ‘ssajulels — ubisaqg edINL 0} dn ainssaidiano ‘1xe ‘sseaq — ubisaq
"JapJo |e1oads uo palddns ales|jam 4o} s8dald Uo-papiem pue /zZ119 ‘9z 19 adA) sadlnep Jo) Buiysng Jaqgnd ‘v ‘Bl S||lom aA308)01d
"'S82IABP YUM paljddns G LL9 pue $£119 8dA) saoinap 1o} g Biy s|jom aA1308}0.d
99 O O
1 1
* o= f | i i 1
% ~_ » - {1l | q —
Nl O (N — o N —
N

Due to continual technical development the manufacturer reserves the right to change parameters without prior notification.
ZPA EKOREG, Déginska 55, 400 03 Usti nad Labem, tel.: 475,246,335.336, fax: 475,531,073, e-mail: prodej@zpaul.cz, http://www.zpaul.cz 1




Pressure and temperature

Accessories
I
= L _h
— - M| N Z
o ~ oo . 7] 7z © T _
L 1 o 11,
L ’ I 1.5 |
I 2 -l ._b
I —e f— |
1
Regulator accessories in design Ex supplied with devices!
Accessories in design T is supplied on special order.
tl;gre O,Gg?r W[fg]ht Accessories consists of the: Material
Nut D=M12x1,5 [mm] Structural
d d4 | l4 I h11 steel
QW 6,5 12,5 21 17 3 17
61214 |0 © 3
61216 |K K £ Nipple [mm] Structural
61215 | _ % 0,03
61219 23 & d di d2 ds | I B steel
61220 lo o & 9,5 5,5 6 3 25 6 4
SSE
= Washer [mm]
d d4 b Al
9,5 5,5 2
Nut D =M 20x1,5 [mm] Structural
d d1 I l4 I h11 steel
© 12,5 20,5 30 24 5 27
o .
61218 | & 01 Nipple mm] Stainless
61242 | o ' d ds d; ds | l4 l2 steel
A 17,5 7 12 7 30 5 -
o
N Washer [mm]
Al
d d4 b
17 6,5 2
Ordering example:
1 pc accessories M12 x 1,5 Order No. 405 961 177 916 0K22
I
Reducing nipple M12 x 1,5/M20x1,5 E = g
Order No. 405 961 189 216 5’ 3ol e & )
Reducing nipple M12 x 1,5/G1/2 3y | zle
Order No. 405 961 189 316 § s
0
Throttling screw for regulators type 61214 and 61216 ;2'5 8 ®
(for ranges 4-63 kPa, 10-100 kPa, 16-160 kPa, -80-250 kPa) »

Order No. 405 061 050 116

Throttling screw for regulators type 61214 and 61216
(for ranges 25-250 kPa, 40-400 kPa, 63-630 kPa, 0,1-1 MPa, 0,16-1,6 MPa)

Order No. 405 061 167 116
Catalogue sheet KLA 14/33/04-14

Due to continual technical development the manufacturer reserves the right to change parameters without prior notification.
2 ZPA EKOREG, Dé&¢&inska 55, 400 03 Usti nad Labem, tel.: 475,246,335.336, fax: 475,531,073, e-mail: prodej@zpaul.cz, http://www.zpaul.cz




